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Math Il Unit 5 Test 1 Review
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‘Write an eguation far the follawing circles:
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Unit 6 Trig Functions Part 11 Test Review

1) Find an angle that is co-terminal with 852°. . ¥
. cwers: 4972
(subroct of 0dd 360 x hme) POSSIOIC ABWESE 2832

2) Find the smallest positive co-terminal with 705°.

345"
3) Identify the period and amplitude of y = -4 sin (2x)..
period: -1 gmplitude: 4
4) Identify the period, amplitude and any transformations of y = -1/2 cos (2x) — 4. -
perods AT amplinide:3 pruse Shif: 9 v S 44

5) Without the use of technology, explain why cos 240° = cos 120°.

ik
both have 0 teference 4ngie oF 00" which mages €03 =2

- il & S ey are 1N
6) Without the use of technology, explain why sin 52° = sin 412°

52°+ 4T 06 Corer ngl e 5L, i
e - (0fie§.Qre neganve -

7) You have probably noticed that when you ride a Ferris Wheel, the distance from the ground varies
sinusoidally with time. When the last seat is filled and the Ferris wheel starts, your seat is at the position
rhi in the figure below. Let ¢ be the number of seconds that have elapsed since the Ferris wheel started. You
S find that it takes you four seconds to reach the top, 43 feet above the ground, angl that the wheel makes a
0 W(W Srcvoluti-:m every eight seconds. The diameter of the wheel is 40 feet. b{,agtg g
l

-22%°

a) Write an equation to model this

mq situation. - : ceC g ,
bty 200087 (x-1) A3 bférge& PN\ 2 5L

|
Th@lh(]hﬁ,} Identify the period of the function

and the amplitude. , - - e

w pFriO ¥ ma . Fl;..%&r ;
amp* 20 D A

¢) Predict the height above the ) m Ox 45 e

ground Whm::d: 6,f=£, andr:ﬂ&f L?] - d\ 27 %Q’#{-
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' pmp: 20 AT,
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as waves passes, it moves from its highest point to its lowest \

8) Ab i ~ ; :
] oy SheEmand dov i the ui The distance between the highest and lowest points

. .. point, and back 10-its highest point every 10 seconds.
is three feel.

a) Determine the amplitude and period of sinusoidal function that models the bobbing buoy.

GMP 198 ogriod: 10FCC

b) Write an equation of a sinusoidal function that models the
point. T fE?]' AR (0
: T _ D *

0 - 0
¢) Find the height of the buoy after 15 seconds. S D
A AL AW e oW st i
ALE

9) A function rule in the form y = a cos(bx) has period 7 and the distance between the highest and lowest
point is 24,

bobbing buoy, using x = 0 as its highest

‘a) Findaandb, (] = |4
b= A

b) Graph the function in Part a. Mark the scale on the y-axis.
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